¥ a, b, coll ot a+ b+ c = 9Q W abe O] XAGE-2?

D 19 ® 21 3 23 @® 25 B 27



2
2. P xof fjspe LT 2XT2

—2a+ b+ 19 Zre?

= x = a°llA 33 bE 7HE o,

@D 3 @ 4 ® 5 @ 6 ® 7



3.

= xofl tiste] 8x2 4 = —4 &

D 23 @ 243 3 6

® 10



a, b, x y7t Aol a® + b? = 8x% +y? = 24 W ax + by 9]

4.

@ -4 3 0 @ 4 3 16

D =16



5. x y7hA%OlT a2 42 =109 o x4 3y ALY

@D 5 ® 6 3 8 @ 9 3 10



A x, y7h 22 +y? =58 WSS u, x + 2y 2] A M, HEA m
o] 3t M 4+ m<& F-5tof et

B
=¥



MEAp:4<x<5, qg:x<a, r:x>b°] st p 7} g ©17] gt
FHz70] HE2 5He ¢ 9] H5:ghe m ol st r o] p o]7] 1%t
Bazzde] §=& skt b ) HYighe n ol F ul, mtn O gL2?

D -1 ® 1 3 8 @ 9 ® 10



ol

ol

@ 1 B 2

® 0



o_e

e

x>a’7l-2<x-1<29°]7]1 ¢

9.

shi?

:ll

@ 1 B 2

3 0



{-1, 0, 101]EHo}°4°V\f A—>B

,f(l)f(2)f(3)f 4)f(5) =0 1 &= f o] A5 751



11.

= {_]-9 O’ ]-}’

B:

{_2’ - 1’ 0’ ]-3 2} Oﬂ EHE]_O:] A 01]/\1 B

f7bxe AR BE xof tote] f(-x) = —f(x) & THAIZ
f o g 2 Az

® 27

® 37 @ 4 7 ® 57}



12.

A A = (1,2 3,4, 5} oA A B =
WS £ F (1) =ar, f(2)=az 9 B 1 0 AT
® 874 25 7} ® 6474
@ 8170



x+ | x |9 A ZE?

Ty=

SH
=

o0&

13.




m|x=1]+2 9 x5082 Feel A2l w7t 10



15.

=2]x-1]-29 TA=} x5

%0 % FeRQl BEO]



|

@ AUBUC

(

=U

B

® A-B

@ BNC=9

® (AuC)cB

® A°CcB



17. 136 ol 57172] A% 5 & o] ¥l4E 942 ohis AL Py,
2ol Jolqttt, n (P(g )=a, n( (4)) =b, n(P(lg)) =c 22 & o,
n((Py U Pg) U (P2 NPu)) & ab,c = e ofet

SER
=%



18. Al A = {xlx
off thated et=r2

® (AuB)-C

@ AnBnNCe

o rlr

@ AUBUC

® (A-BFnce



